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Q.1 Solve the following pair of equations in x and y graphically.
X+y=0, 2x—-y+3=0.

Solution: X+y=0 = y=-X.

When x=0 then y=0.

When x=1 then y=-1.
So the points (0,0)and (1,—1) lies on the graph of x+y=0.
Take 2x—y+3=0 = y=2x+3.

When x =0 then y=3.

When x=1 then y=5.
So the points (0,3) and (1,5) lies on the graph of 2x—y+3=0.

7 2x—y+3=20
(1,5)

4
3£ (0,3)
1

L1 0,0)
T 44 43 4/ 410 1.2 3 4 5
/ -1 (1,-1)
> Yy=—X

From graph, we see (—1,1) is the common point in both equations.

Available at www.mathcity.org


https://creativecommons.org/licenses/by-nc-nd/4.0/

Q.2 Solve the following pair of equations in x and y graphically.
X+y+1=0, x-2y=-1.
Solution: X+y+1=0
= y=-x-1.
When x=-1 then y=0.
When x=0 then y=-1.
So the points (—1,0)and (0,—-1) lies on the graph of x+y+1=0.
Take Xx—2y=-1
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When x=-1 then y=0.

When x=1 then y=1.
So the points (—-1,0) and (1,1) lies on the graph of x—2y =-1.
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From graph, we see (—1,0) is the common point in both equations.
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Q. 3 Solve the following pair of equations in x and y graphically.
2x+y=0, x+2y=2.
Solution: 2x+y=0
= y=-2X.
When x=0 then y=0.
When x=1 then y=-2.
So the points (0,0)and (1,—2) lies on the graph of 2x+y=0.

Take X+2y=2 = 2y=2-X = yzl—%x.

When x=0 then y=1.
When x =2 then y=0.
So the points (0,1) and (2,0) lies on the graph of x+2y=2.
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From graph, we see (—0.7,1.3) is the common point in both equations.
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Q. 4 Solve the following pair of equations in x and y graphically.
X+y-1=0, x-y+1=0.
Solution: X+y-1=0
= y=—Xx+1.
When x=-1 then y=2.
When x=0 then y=1.
So the points (-1,2)and (0,1) lies on the graph of x+y-1=0.
Take X—y+1=0
= y=x+1.
When x=-1 then y=0.
When x=0 then y=1.
So the points (—1,0) and (0,1) lies on the graph of x—y+1=0.
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From graph, we see (0,1) is the common point in both equations.
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Q.5 Solve the following pair of equations in x and y graphically.
2x+y-1=0, X=-Y.
Solution: 2X+y-1=0 = y=1-2x.
When x=-1 then y=3.
When x=0 then y=1.
So the points (—1,3)and (0,1) lies on the graph of 2x+y-1=0.
Take y=—X
When x=-1 then y=1.
When x=0 then y=0.
So the points (—1,1) and (0,0) lies on the graph of x=-y.
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From graph, we see (1,—1) is the common point in both equations.
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